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TEST

Theorem 2.1 (Test for Independence).

LetS = {AI’AZ’ ..

ments of a vector space V. Consider the equation

independent.
On the other hand, if there is a solution to equation (2.1) with x; # 0 for some k,
then S is linearly dependent and Ay, is a linear combination of the set of A; with j # k.
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EXAMPLE 2.3

Test the set formed by the following matrices for linear dependence. If linear depen-

dence is found, use your results to express one as a linear combination of the others.

A( AZ Ag ‘A\(
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